EREMH V) —REER

2025/07/13 17:20

aARA:

ABIRB(FoE—1\0T4)

BEERR:

{fEfFO—X: OUT IN

25%F7R13H8 (B)

IRELRTE 3% VbR

SF o
it - 56 A
Iz ShnEA ouT IN GROSS HDCP  NET Lo
1 SFf8 EX 43 4 84 200 640
2 HHFR 43 42 8 200 650
3 MR b 40 39 79 140 650
4 = 43 40 83 160 670
5 B FHER 40 M 81 120 69.0
6 FHE® 41 42 83 130 700
7 TEX FT=F 40 48 88 170 7.0
8 IR &5hA 46 45 91 200 71.0
9 XmEEF 43 45 88 170 7.0
10 BIR 8i% 46 44 90 190 71.0
11 SH Bt 47 46 93 200 730
12 mE#k E3xk 49 44 93 200 730
13 3L)Il BhzE 45 4 86 13.0 730
14 AR & 45 4 86 130 730
15 Bl FEF 46 45 91 17.0 740
16 &I #it 43 45 88 140 740
17 ¥ &FF 44 46 90 15.0 750
18 A#f 5 45 43 88 130 750
19 HiE |7 45 50 95 200 750
20 rhEF tHiEX 44 45 89 140 750
21 *H faF 45 50 95 200 750
22 AH #X= 40 47 87 11.0 76.0
23 TH® 42 46 88 120 76.0
24 B =E 46 46 92 160 76.0
25 H9 #E 44 51 95 19.0 76.0
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EEEMh ) —EEER 2025/07/13 17:20

aAVRA: ABIRB(FoE—1\0T4)

BifEERR: 25574138 (B)

Sans. samm R ki 1 ien e SAH

HDCP_LRR: 53f4:20 & 4%:20 =720 i E 52 i

=7 0A

it - 56 A

Iz SmER ouT IN GROSS HDCP  NET Lo

26 IUKF EA 46 45 91 140 770
27 KH 2 43 50 93 16.0 770
28 HiffE 05k 41 52 93 16.0 770
29 F&R = 47 49 96 180 780
30 #E fs 46 46 92 140 780
31 @M —X 46 51 97 180 79.0
32 17 FfE 50 40 90 11.0 79.0
33 FR FEA 50 46 96 16.0 80.0
34 A 47 49 96 16.0 800
35 FHFH A 51 50 101 200 81.0
36 TH HEEA 43 50 93 11.0 820
37 #HHE & 52 46 98 16.0 820
38 EA/IIE 48 47 95 130 820
39 kA —H 48 50 98 150 830
40 H+ = 52 47 99 16.0 830
41 FRIE 49 49 98 150 830
42 KF & 50 50 100 17.0 83.0
43 M EZ 45 49 94 11.0 830
44 R shz 55 47 102 180 84.0
45 |A E= 55 48 103 190 840
46 UK F 50 55 105 20.0 85.0
47 HEHAE Fith 51 47 98 130 850
48 FkH % 47 49 96 11.0 850
49 {E FE 48 52 100 140 86.0
50 F1H sFsh 55 46 101 150 86.0
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aAVRA: ABIRB(FoE—1\0T4)

BifEERR: 25574138 (B)

ffA3—X: 0UT IN IBRLREAE: VB
B BEAR BBl 1 £EAH SMA%
HDCP_ERR: Bi4:20 & f4:20 =7:20 i 50 A
& 6 A
P2mly s oA
it 56 A
=32 SES ouT IN GROSS HDCP  NET wE
51 F0H XER 55 45 100 13.0 87.0
52 HE XF 53 51 104 130 910
53 TR A 50 53 103 11.0 920
54 #E BiA 60 56 116 200 96.0
55 ZHA thhr 56 54 110 140 96.0
56 K BE 59 58 117 190 98.0
NR i3 EE 0 120 -120
NR f1H & 0 19.0 -19.0
NR #JIl = 53 49 102 150 87.0
NR ##k IE= 70 64 134 150 119.0
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